

DELIVERY DETAILS

Name: _____ Business Name: _____
 Phone: _____ Email: _____
 Delivery Address: _____
 City: _____ ZIP/Post Code: _____ State: _____

FOR OFFICE USE

Order Number: _____
 Customer ID: _____
 Date: _____

ITEM	BRAND	PRODUCT DESCRIPTION	UNIT WEIGHT	QUANTITY	UNIT PRICE (\$)	CASE PRICE (\$)	ORDER QTY
SHAHI KULFI							
1	Shahi Kulfi	Malai Kulfi (Bar)	80 g	30 pcs	\$1.49	\$45.00	
2	Shahi Kulfi	Mango Kulfi (Bar)	80 g	30 pcs	\$1.49	\$45.00	
3	Shahi Kulfi	Pistachio Kulfi (Bar)	80 g	30 pcs	\$1.49	\$45.00	
4	Shahi Kulfi	Chocolate Kulfi (Bar)	80 g	30 pcs	\$1.49	\$45.00	
5	Shahi Kulfi	Almond Kulfi (Bar)	80 g	30 pcs	\$1.49	\$45.00	
6	Shahi Kulfi	Coconut Kulfi (Bar)	80 g	30 pcs	\$1.49	\$45.00	
7	Shahi Kulfi	Strawberry Kulfi (Bar)	80 g	30 pcs	\$1.49	\$45.00	
8	Shahi Kulfi	Malai (Pint) 16 oz	455 g	12 pcs	\$4.14	\$49.68	
9	Shahi Kulfi	Mango (Pint) 16 oz	455 g	12 pcs	\$4.14	\$49.68	
10	Shahi Kulfi	Pistachio (Pint) 16 oz	455 g	12 pcs	\$4.14	\$49.68	
11	Shahi Kulfi	Saffron (Pint) 16 oz	455 g	12 pcs	\$4.14	\$49.68	
12	Shahi Kulfi	Falooda (Pint) 16 oz	455 g	12 pcs	\$4.14	\$49.68	
13	Shahi Kulfi	Strawberry (Pint) 16 oz	455 g	12 pcs	\$4.14	\$49.68	
14	Shahi Kulfi	Malai (Quart) 32 oz	910 g	12 pcs	\$7.49	\$89.88	
15	Shahi Kulfi	Mango (Quart) 32 oz	910 g	12 pcs	\$7.49	\$89.88	
16	Shahi Kulfi	Pistachio (Quart) 32 oz	910 g	12 pcs	\$7.49	\$89.88	
17	Shahi Kulfi	Saffron (Quart) 32 oz	910 g	12 pcs	\$7.49	\$89.88	

TOPANS

W H O L E S A L E S

ITEM	BRAND	PRODUCT DESCRIPTION	UNIT WEIGHT	QUANTITY	UNIT PRICE (\$)	CASE PRICE (\$)	ORDER QTY
18	Shahi Kulfi	Saffron (Quart) 32 oz	910 g	12 pcs	\$7.49	\$89.88	
19	Shahi Kulfi	Falooda (Quart) 32 oz	910 g	12 pcs	\$7.49	\$89.88	
20	Shahi Kulfi	Strawberry (Quart) 32 oz	910 g	12 pcs	\$7.49	\$89.88	
21	Shahi Kulfi	Malai Kulfi (Family Pack)					
22	Shahi Kulfi	Mango Kulfi (Family Pack)					
23	Shahi Kulfi	Pistachio Kulfi (Family Pack)					
24	Shahi Kulfi	Chocolate Kulfi (Family Pack)					
25	Shahi Kulfi	Almond Kulfi (Family Pack)					
26	Shahi Kulfi	Coconut Kulfi (Family Pack)					
27	Shahi Kulfi	Strawberry Kulfi (Family Pack)					
ALIYANS FOODS							
28	Aliyans Foods	Halal Chicken Chapli Kabab	512 g	10 Packs	\$7.00	\$70.00	
29	Aliyans Foods	Halal Chicken Nuggets	1 lb	10 Packs	\$5.99	\$59.92	
30	Aliyans Foods	Halal Chicken Nuggets (Flaming Hot)	1 lb	10 Packs	\$5.99	\$59.92	
31	Aliyans Foods	Halal Chicken Nuggets - Family Pack	3 lb	4 Packs	\$13.99	\$55.96	
32	Aliyans Foods	Halal Chicken Strips	1 lb	10 Packs	\$6.74	\$67.42	
33	Aliyans Foods	Halal Chicken Strips (Flaming Hot)	1 lb	10 Packs	\$6.74	\$67.42	
34	Aliyans Foods	Halal Chicken Shami Kabab	330 g	10 Packs	\$6.50	\$65.00	
35	Aliyans Foods	Halal Chicken Seekh Kabab	360 g	10 Packs	\$6.25	\$62.50	
36	Aliyans Foods	Halal Chicken Seekh Kabab (Spicy)	360 g	10 Packs	\$6.25	\$62.50	
37	Aliyans Foods	Halal Chicken Seekh Kabab - Family Pack	720 g	8 Packs	\$11.00	\$88.00	

TOPPAS

W H O L E S A L E S

ITEM	BRAND	PRODUCT DESCRIPTION	UNIT WEIGHT	QUANTITY	UNIT PRICE (\$)	CASE PRICE (\$)	ORDER QTY
38	Aliyans Foods	Halal Chicken Seekh Kabab - Family Pack (Spicy)	720 g	8 Packs	\$11.00	\$88.00	
39	Aliyans Foods	Halal Chicken Biryani	10 oz	10 Packs	\$7.50	\$75.00	
40	Aliyans Foods	Halal Chicken Malai Boti	10 oz	10 Packs	\$7.20	\$72.00	
41	Aliyans Foods	Halal Tandoori Chicken Wings	400 g	10 Packs	\$7.49	\$74.90	
42	Aliyans Foods	Halal Chicken Reshmi Kabab	360 g	10 Packs	\$6.50	\$65.00	
43	Aliyans Foods	Halal Chicken Adana Kabab	360 g	10 Packs	\$7.00	\$70.00	
44	Aliyans Foods	Halal Butter Chicken	10 oz	10 Packs	\$7.40	\$74.00	
45	Aliyans Foods	Halal Haryali Chicken Boti	10 oz	10 Packs	\$7.30	\$73.00	
46	Aliyans Foods	Halal Chicken Tikka Masala	250 g	10 Packs	\$7.50	\$75.00	
47	Aliyans Foods	Halal Chicken Shots	1 lb	10 Packs	\$6.74	\$67.42	
48	Aliyans Foods	Halal Chicken Shots (Flaming Hot)	1 lb	10 Packs	\$6.74	\$67.42	
49	Aliyans Foods	Halal Chicken Patties	1 lb	10 Packs	\$5.99	\$59.92	
50	Aliyans Foods	Halal Chicken Patties (Flaming Hot)	1 lb	10 Packs	\$5.99	\$59.92	
51	Aliyans Foods	Halal Chicken Patties - Family Pack	3 lb	4 Packs	\$13.99	\$55.96	
52	Aliyans Foods	Halal Chicken Seekh Fry	10 oz	10 Packs	\$7.10	\$71.00	
53	Aliyans Foods	Halal Buffalo Chicken Wings	400 g	10 Packs	\$7.49	\$74.90	
54	Aliyans Foods	Halal Chicken 65	400 g	10 Packs	\$7.60	\$76.00	
55	Aliyans Foods	Halal Barbeque Chicken Wings	400 g	10 Packs	\$7.49	\$74.90	
56	Aliyans Foods	Halal Chicken Frank	12 oz	12 Packs	\$5.41	\$65.00	
57	Aliyans Foods	Halal Chicken Nihari	10 oz	10 Packs	\$7.00	\$70.00	
58	Aliyans Foods	Halal Chicken Hot Dog	10 oz	12 Packs	\$5.25	\$63.00	

TOPPAS

W H O L E S A L E S

ITEM	BRAND	PRODUCT DESCRIPTION	UNIT WEIGHT	QUANTITY	UNIT PRICE (\$)	CASE PRICE (\$)	ORDER QTY
59	Aliyans Foods	Halal Chicken Haleem	10 oz	10 Packs	\$7.00	\$70.00	
60	Aliyans Foods	Halal Chicken Tandoori Tikka	314.5 g	10 Packs	\$6.75	\$67.50	
61	Aliyans Foods	Halal Beef Seekh Kabab	360 g	10 Packs	\$7.50	\$75.00	
62	Aliyans Foods	Halal Beef Seekh Kabab (Spicy)	360 g	10 Packs	\$7.50	\$75.00	
63	Aliyans Foods	Halal Beef Seekh Kabab - Family Pack	720 g	8 Packs	\$12.00	\$96.00	
64	Aliyans Foods	Halal Beef Seekh Kabab - Family Pack (Spicy)	720 g	8 Packs	\$12.00	\$96.00	
65	Aliyans Foods	Halal Beef Bihari Kabab	10 oz	10 Packs	\$9.20	\$92.00	
66	Aliyans Foods	Halal Beef Chapli Kabab	512 g	10 Packs	\$7.50	\$75.00	
67	Aliyans Foods	Halal Chipotle Beef Burgers Patties	680 g	8 Packs	\$12.00	\$96.00	
68	Aliyans Foods	Halal Beef Hot Dog	10 oz	12 Packs	\$5.80	\$70.00	
69	Aliyans Foods	Halal Beef Seekh Fry	10 oz	10 Packs	\$8.25	\$82.50	
70	Aliyans Foods	Halal Beef Adana Kabab	336 g	10 Packs	\$7.00	\$70.00	
71	Aliyans Foods	Halal Seasoned Beef Burger Patties	680 g	8 Packs	\$11.00	\$88.00	
72	Aliyans Foods	Halal Real Angus Beef Burger Patties	680 g	8 Packs	\$12.00	\$96.00	
73	Aliyans Foods	Halal Beef Nihari	10 oz	10 Packs	\$8.25	\$82.50	
74	Aliyans Foods	Halal Beef Frank	12 oz	12 Packs	\$6.00	\$72.00	
75	Aliyans Foods	Halal Beef Shami	330 g	10 Packs	\$7.50	\$75.00	
76	Aliyans Foods	Halal Lamb Seekh Kabab	360 g	10 Packs	\$7.50	\$75.00	
77	Aliyans Foods	Halal Lamb Seekh Kabab (Spicy)	360 g	10 Packs	\$7.50	\$75.00	
MAJESTIC CHEF COOKWARE							
78	Majestic Chef Cookware	Fish Pot Set (4 PCS) - Large	-	4 pcs	\$90.00	-	

TOPPAS

WHOLESALES

ITEM	BRAND	PRODUCT DESCRIPTION	UNIT WEIGHT	QUANTITY	UNIT PRICE (\$)	CASE PRICE (\$)	ORDER QTY
79	Majestic Chef Cookware	Fish Pot Set (4 PCS) - Small	-	4 pcs	\$70.00	-	
80	Majestic Chef Cookware	8-10 Chef Aluminum Casserole Royal Set (3 PCS)	-	3 pcs	\$90.00	-	
81	Majestic Chef Cookware	Chef Aluminum Casserole Royal Set (5 PCS)	-	5 pcs	\$90.00	-	
82	Majestic Chef Cookware	6-8 Chef Aluminum Casserole Royal Set (3 PCS)	-	3 pcs	\$80.00	-	
83	Majestic Chef Cookware	Shangrila Non-Stick Set (5 PCS)	-	5 pcs	\$80.00	-	
HONG QI							
84	HongQi	Fumang Mango Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
85	HongQi	Tao Qi Peach Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
86	HongQi	Ningxia Lemon Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
87	HongQi	Lemon Yogurt Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
88	HongQi	Taoshan Milk Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
AIKO							
89	Aiko	Grape Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
VOCCA CHOCOLATES							
90	Vocca Chocolates	Angel Hair in White Chocolate (Bar)	150 g	20 pcs	Call For Price	Call For Price	
91	Vocca Chocolates	Coconut Kunafa in Milk Chocolate (Bar)	125 g	20 pcs	Call For Price	Call For Price	
92	Vocca Chocolates	Dates Kunafa in Milk Chocolate (Bar)	125 g	20 pcs	Call For Price	Call For Price	
93	Vocca Chocolates	Hazelnut Kunafa in Milk Chocolate (Bar)	125 g	20 pcs	Call For Price	Call For Price	
94	Vocca Chocolates	Mango Puliserry in White Chocolate (Bar)	125 g	20 pcs	Call For Price	Call For Price	
95	Vocca Chocolates	Pistachio Kunafa in Milk Chocolate (Bar)	125 g	20 pcs	Call For Price	Call For Price	

TOPAAS

W H O L E S A L E S

ITEM	BRAND	PRODUCT DESCRIPTION	UNIT WEIGHT	QUANTITY	UNIT PRICE (\$)	CASE PRICE (\$)	ORDER QTY
79	Majestic Chef Cookware	Fish Pot Set (4 PCS) - Small	-	4 pcs	\$70.00	-	
80	Majestic Chef Cookware	8-10 Chef Aluminum Casserole Royal Set (3 PCS)	-	3 pcs	\$90.00	-	
81	Majestic Chef Cookware	Chef Aluminum Casserole Royal Set (5 PCS)	-	5 pcs	\$90.00	-	
82	Majestic Chef Cookware	6-8 Chef Aluminum Casserole Royal Set (3 PCS)	-	3 pcs	\$80.00	-	
83	Majestic Chef Cookware	Shangrila Non-Stick Set (5 PCS)	-	5 pcs	\$80.00	-	
HONG QI							
84	HongQi	Fumang Mango Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
85	HongQi	Tao Qi Peach Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
86	HongQi	Ningxia Lemon Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
87	HongQi	Lemon Yogurt Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
88	HongQi	Taoshan Milk Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	
AIKO							
89	Aiko	Grape Flavored Ice Cream	75 g	24 pcs	Call For Price	Call For Price	

Terms & Conditions

- All purchase orders are subject to product availability and written confirmation by Topaas Wholesales LLC.
- Payment and delivery obligations must be fulfilled in accordance with the agreed terms at the time of order placement.
- Any claims regarding shortages, discrepancies, or damages must be submitted in writing within 48 hours of delivery.
- All transactions are conducted on a business-to-business basis and are non-refundable unless expressly authorized in advance by Topaas Wholesales LLC.

Signatures

 sales@topaaswholesales.com

 (614) 732-3054

 www.topaaswholesales.com

 6908 Engle Road, Suite M, Middleburg Heights, Ohio (44130), United States